Stat 2470, Cuiz #5, Fall 2014 Name Ké\r

i
Instructions: Show all work. Use exact answers or appropriate rounding conventions. If you use your

calculator, you can show work by saymg‘whlch calculator commands you used.
|
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. a. Compute the cumulative distﬂjibution function of f(x) = {

2 (1 — —) 1<x< 2
0, otherwise

2 1 g =2t 2(xe)-2001)

Fi)= Zx 1t % -4

b. What is the 50" percentile (mlfedian) of X?
/Zy-f-z‘- -?;.S'O-‘--li)?—?"

e tp=r d-feet=o
X= +9 3 'al ate) - ilJJl__’*} Q:Zb"t,%

¢. Find V(X).

€0r)* lg\‘zx"’-—l Ax. = 2(1‘3-7&\1 =
2(%-2)-2( ‘%-ly B-y-Trz =z §- 5 :_g_
9> 2( y- Ldx = [2;( -lm] - afa-i-beo]e g,

: | %72, ~(1.
2. IfZis normally distributed, find P(Z < 1.37)and P(—1.75 < Z < 2.5).

ncrm»@cd-é( E‘M;/aﬁ')— 91465,
hovvmakedy (-1.35, 2.5 ) 7 %”573...

3. If Xis normally distributed with a\ mean of 15 and a standard deviation of 1.25, find P(X < 17.5)
and P(14 < X < 18).

Hormabed (-2, A5, 15, 128) = FF2497...

Wm&b&{)(l‘t (%, IF. 25) ,7799..
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